RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-1018 Flush GLZ Masonite FG door (4904-4909)\C - Drawings\TX-4905-08.dwg, TX-4908

POWERED BYl!
]

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2018
International Residential Code (IRC}, Sections R301 & R60% and the 2018
infernationatl Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1. Anchars shall be os listed and spaced as shown in the details. Anchor
embedment fo base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-bome debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject fo further engineering
analysis.

TABLE OF CONTENTS

SHEET# DESCRIPTION
] Typical elevations, design pressures & general notes
Door panel details {lip lite insert glazing) —
Stidelte panel details {lip lite insert glazing)
Horizontal cross sections
Vertical cross sections
Vertical cross sections
Frame anchoring

Niosn s |WiN

"FusionFrame"

112.25" MAX. OVERALL

FRAME WIDTH

19 |
o =
s 2
o =
z Q
: |
5 O
ol Ly
T L
jR N

=
& [t
;<
<(. ]
S X
z <
= =2
2 &

~

O~

OXO

INSWING

+35.0

-35.0

0) (o]

OUTSWING

+40.0

-45.0

L S L TN

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valirico FlL. 33595
Phone No.: B813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F—11852

7]
=
52
g7
&
55
<
o g I
) <O
SE [ e p
b=
Led Wl
al 9
< 2{'%
g S
[ ] - tLIJ
@
o o
& < o.
o a1
@ >
Lo
L
I
e}
i
&
Sl&
Elo]
Sial |n
X =
o|®| ©
S| 2
&l @
HE R
3|
Ll
oIE
8|i5
<
[¢)}
L
N
i
[s))
1o
Z
pATE: 11/8/18
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4908

sHEeT ] oF 7

© 2018 R.W. BUILDING CONSULTANTS ING.



CON] BANVLINSNGD aNIaUNg "My 8102 @

ZS8Li—d # NOLVMISIORM 40 ILVOLILYID SNOISIAZY
SHIINIONT TYNOISSIAONd 40 QN¥VOE SYX3L m%mﬁmﬁo HSN14) Ag 31vad [ON
IVI3Q 3Nvd 4000 3000 2¥1/081 8102 OL 31vadn 2 wixiP ® ™
LBLE'6S9°CLE ON Suold - N o
S6SET 14 OSHIDA 0T Xog ‘0°d \Svg, ‘ATBNISSY 0 L¥vd | 547 % NOLdO ,8wo.ijuoisny agyv| 61/cz/6] | W |7 . D &
"ONI ‘SINVLINSNOD SNIgHNG A g | 2_
~ |E|E|g &
€TIYOL# '3'd SVXAL VHNAN3 glSigl ol ]
‘3'd IPIWYSS J UOPUAY g peundesq sjUsWINDOQG onaodd 5 w m ”HM m M
o
o
&
= p-d
N : o
:&O -
2
[ 7]
2 v 8
,.H : 5 E 3
N\ : g 1.. M
-
e
\ \ m \ >
% Z
= = @) & T =
s W z == v oL = o~ e
E [TH] o
Z £ Q O
a. O A - ) =
S0 o= Z 2% cv
o} S5 s 09
o 03 =9
z &= 3
=]
He
¥
— (70 ] (72
\ 32 2
o
Z< 0 Q)
I0 o a
= , _ o X oW LUl
5 Q £ wZ 0 a
Wu = z3 3 X =
) 0 -5 = 0
o L B2 %% & % 2
Z o2 /// \ b )
= w
= B o —_
W =& ~ # B = 0
2 = o B
w < 0 &
nNu M o & B
e ] oc
] S 0
“ S5 £S5
a O O
i e} (a7 ~ m >
oz o b~ O (o g =
©) @) () ! & 2
P [+ ~ = z 5
i o = v
o il A = .o w
£ — - . )
5 z Z 2
nﬂu 17 =5
S
= 5
»
} 27
o ™~
w0
! Heg
M ™~ = nN.m .mv@
QB KD O
0L SR
=T =2
S
o
— S w
=53 S s <
nﬂ [~ e MAv. S = L
Q = 28 x5 Z u
= N W =0 L
2 8% %3 Z
= IHOPH'O'T1d
3 _ XYW .6/
1HOEH TENVd
JO0A XYW .ST'66

72 "BMp'80-506%-XL\sBUIMBIQ - D\(6067-70BY) J00P D4 2HUOSBI Z19 Usn|4 810L-YQ -"IAL\SU] 30 1daQ sexa] - S\LNINVINYId BINPUI\SIUID\Y



,;;&«'““’j;f\}:f%‘}“’lzl : 8
Sonnigl ool 53
STILE STILE SRS iFET Ex
(LAMINATED WOOD) (LAMINATED WOOD) A ng o o 82;
EXTERIOR ;3@@ @i% R
o NiTig & £3
5 z i S
13y ]

m =%~

FIBERGLASS SKIN

/M7 2
" . (0.075" MIN,)
16 INTERIOR 16 RN ._

O 9" ———-—-H‘l
ey
&RQE
,.2‘: e
%h
' LYNDO
“jﬁ'
40 ¢
Qe A CensERs
2 v/,
4
>

- 175" ——

P.0. Box 230 Valrico FlL. 33585
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

m HORIZONTAL CROSS SECTION
3 .
I
T
82
t < dg
35.75" MAX. g |y 23
PANEL WIDTH 3 § .
N EXTERIOR ol =3
D.L.O. WIDTH 3] 5 3
< : ) 2 e
3 2 &
GLASS BITE 3/4" o a
EXTERIOR POLYURETHANE SEALANT 2 1%
—— 1.0" NOMINAL GLASS THK. »
g 1/8" TEMPERED GLASS » M
N ) AR SPACE N § g
§ = T A " S %)
N Ul X
: o >§< % _ ; 1/8" TEMPERED GLASS FoAM CORE —_ || ool 5
T . L 5 2]
<z e STEEL SPACER (POLYURETHANE ) - & g o
% = INTERIOR 5= &
™~ O D M 0
w ) 5 E
< GLAZING DETAIL 5 I
Flush Glazing o 215
BOTIOM RAIL U :
(WOOD COMP.) =
BN S e
NEE
N N
b N TS
=z
OATE: 11/8/18
MASONITE e 1,75 SCALE:  N.T.S
Flush glazed .T.S.
{fiberglass) DWG. BY: JK
CHK. BY: LFS
/"2 VERTICAL CROSS SECTION SRS o

\3/ TX—4908

SHEET 3 oF 7

R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1018 Flush GLZ Masonite FG door (4904-4909)\C - Drawings\TX-4905-08.dwg, 3.4

© 2018 R.W. BUILDING CONSULTANTS INC.




Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1018 Flush GLZ Masonite FG door (4904-49090\C - Drawings\TX-4905-08.dwg, 4.4

—r

>

—t 4
v 5
#8 X 2-1/2" FH COURSE

THREAD DRYWALL SCREW
(SEE NOTE 1)

"FusionFrame™

MULLION \

BACK-TO-BACK JAMBS:

- 5 INTERIOR
D L] ENDURA WEATHERSTRIP
C % (QEBD/PE 650)
ENDURA WEATHERSTRIP
DOOR PANEL (QEBD/PE 650)

\\

"FusionFrame” {1' OR 2-PIECE)

x':‘,\“\\,\:\,‘» ‘ﬁv}l
e 9,5,.2’:@1‘

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

\\
\\

s>
CORNER PADS

(TYP.)

- 1.5" —]

435"

=

/77

WwOOD

COMPOSITE

N

2.5

FATBOY MULLION

PINE

NOTES:

1. Spacing for sidelite screws: 6.5", 35.5", 57.25" and 85" from head to sill (4 total).
2. Spacing for mullion screws: " from each end plus 3 more equally spaced (5 fotal).

(0000

-
CJ
]

0J)

4.375"

2.5"

MULLION

"FusionFrame"

SIDELITE PANEL/ /

#8 X 2-1/2" PFH WOOD SCREW
#8 X 3/4" PFH SMS

/"3 "\ HORIZONTAL CROSS SECTION

N L1
FEFrld
.

#10X 2-1/2" PFH
_~ WOOD SCREW
(SEE NOTE 2)

SIDELITE PANEL

N

A\

#8 X 1" PFH SMS

4" HINGE EXTERIOR

DOOR PANEL

LATCH

#10 X 3" PFH

#8X2-1/2'PFH  wOOD SCREW
WOOD SCREW {SEE NOTE 1)

STRIKE PLATE

/4" HORIZONTAL CROSS SECTION

W Outswing shown - Inswing also approved

|

4-3/8" FATBOY 4-3/8" FATBOY
PINE MULLION PINE MULLION
\ INTERIOR \
#8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP
THREAD DRYWALL SCREW (QEBD/PE 650)
(SEENOTE 1) ENDURA WEATHERSTRIP
DOQR PANEL {QEBD/PE 650) \

=

\‘

w Qutswing shown - Inswing also approved

#8 X 2-1/2" FH COURSE
THREAD DRYWALL SCREW
(SEE NOTE 1)

/ /S!DELITE PANEL

N

SIDELITE PANEL/ /

#8 X 2-1/2" PFH WOOD SCREW /

#8 X 3/4" PFH SMS

/"1 "\ HORIZONTAL CROSS SECTION

DOOR PANEL

; #8 X 1" PFH SMS

4" HINGE EXTERIOR

#8 X 2-1/2" PFH WOOD SCREW

LATCH
STRIKE PLATE

m HORIZONTAL CROSS SECTION

\U QOutswing shown - Inswing also approved

w Outswing shown - Inswing also approved

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico Fl. 33595

Docurments Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

o
S 2
Q 9
< 9 &5
& Wu.. 28
D U)z (&1}
2 Ny N
Z Ol v
L] o} %2
& S
W] v IO
mU) [
DLl S
.. (N
*5 14
3 o
o &
& <
o a
ekl T Do
Ll o
w
a
o
)
O
8|
Elo]
Sld) |n
X z
o|®| 1O
5| 2
o I e
S| I®
S|
L
o8
)
<
oy
Ll
NEE
o~ <
N 1o
[}
I lo
z

oATE: 11/8/18

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4908

SHEET 4 oF 7

© 2018 R.W. BUILDING CONSBULTANTS INC,



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1018 Flush GLZ Masonite FG door (4904-4909\C - Drawings\TX-4905-08.dwg, 5.4

2X FRAMING uj
- (G>=0.42) (G>=042) - — £3 @
by g ¥ | |4 o o , . = :
il - // ot EXT. SHEATHING {1} N - 3,\ 2
nay S S LT S Y
EXT. SHEATHING ’ i \ DRYWALL o il EXT. SHEATHING \ il g ™ §§ g AN
\ I DRYWALL \ T I L 1 | DRYWALL LEEE 5k Ec8 SR
#1114 : “ by X 1 - ¢ 1 Lk;:‘ﬂ g.a § ; g Qg
1 |~ #10X2-1/2" PFH i LM #10X 2-1/2" PFH i Nadon 5 8% g2
1" WOOD SCREW = |3 WOOD SCREW 1 v Q5% u”
]/4n MAX. | ‘ d 1E0Y; \ g § i3 g [e] LOL
| " MAX. M) , N 8 265 Su
SHIM SPACE ¢ St SPACE ~. = Il : ™ #10X 3" PFH § Bed X
¥ ¥ = yd WOOD SCREW 2 § o
SaE SoE 1/4" MAX s E
co= co= SPACE - t & 8¢
| SHiM = 00p0o0) g
DOOR PANEL ? SIDELITE PANEL ~_ \ * DOOR PANEL
\ \ HEAD: "FusionFrame" {1-PIECE) 2
HEAD: PINE 48 X 2-1/2" F¥l COURSE HEAD: PINE =
ENDURA WEATHERSTRIP 5
ENDURA WEATHERSTRIP  THREAD DRYWALL SCREW (QEBD/PE 650) &
(QEBD/PE 650) (SEENOTE 1) & "
/4 A\ > s @
EXTERIOR \\ INTERIOR INTERIOR E_XIE_@QB ————————EXTER!OR INTERIOR NorE. % g %
fumniniStalivstofbines el il . wl
{1\ VERTICAL CROSS SECTION "2\ VERTICAL CROSS SECTION (3" VERTICAL CROSS SECTION !+ Spacing for sideite screws: 3 =
\_5_/ Outswing shown -inswing also approved \_§_/ Inswing shown - Oufswing also approved \_5_/ Outswing shown - inswing also approved ¢"from each end (2total). |, ol &
a N~
(o) o
o <C
a. o
B &

1/4" MAX.
SHIM SPACE 1/4"MAX.  #10X 2-1/2" PFH
#10 X 2-1/2" PFH WOOD SCREW SHIMSPACE  WOOD SCREW
JAMB: PINE o ;
0.75" -—]‘—-—-1 0.75" T«~—y— 0.75" DRYWALL JAMB: "Fusionframe DRYWALL
. . N / / (1 OR 2-PIECE) /
e INTERIOR S S S—
COMPOSITE SN / T, C / T s
N SNCAifN #8 X 2-1/2" FH COURSE \ #8 X 2-1/2" FH COURSE
THREAD DRYWALL SCREW LA THREAD DRYWALL SCREW
_ | N (SEENOTE 1) v SEENOTE 1)\ -
il AN %
~ O \ \ \
3 \ 2X FRAMING \ 2X FRAMING
/ 4 LvL (G >=0.42) (G >=0.42)
-
0
E! “““ N "“ “‘ “‘ ‘‘‘‘ -
s b s e e Lo :
' SIDELITE PANEL SIDELITE PANEL
JAMB / HEAD JAMB / HEAD JAMB EXT. SHEATHING EXTERIOR EXT. SHEATHING
PINE "F“(S{?;I;fgge" "F"(g?;;gfgg‘e" /~4"\ HORIZONTAL CROSS SECTION /5 "\ HORIZONTAL CROSS SECTION

W Outswing shown - Inswing also approved

\5/ Outswing shown - Inswing also approved

UPDATE TO 2018 IBC/IRC CODE

9/23/19 |ADD "FusionFrame” OPTION &

NOJ DATE

1

REVISIONS

oate: 11/8/18

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4908

SHEET 5 oF 7

© zo18 R.W. BUILDING DONSULTANTS INC.



DOOR
PANEL AN

(DBK-R)

- - A\
? ENDURA DOOR /‘
DOOR SWEEP PANEL N

ENDURA
DOOR SWEEP

/ [DBK-ZAC)

=

00000

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/ 2>\ VERTICAL CROSS SECTION

/"1 "\ VERTICAL CROSS SECTION
w Inswing Adjustable Threshold

SIDELITE

1 2) 3/ 4,5

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
(SEE NOTE 1)

INTERIOR & \ EXTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7”4\ VERTICAL CROSS SECTION
\U inswing configuration

x

li
! 456" |

INSWING ADJUSTABLE THRESHOLD
ZAI4565FN

1 INSWING ADJUSTABLE THRESHOLD 2
LAIL4565

456" |

b INSWING ARTICULATING THRESHOLD 7 INSWING ARTICULATING THRESHOLD
ZACL4565 IAC4565FN

b 456" |
@ OUTSWING THRESHOLD 12 QUISWING THRESHOLD
7OBL4565 ZOB4565FN

1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW
/"5 "\ VERTICAL CROSS SECTION
w Qutswing configuration
= :?3 é’\’ z %
! 456" .' 1 456" ] f
INSWING ADJUSTABLE THRESHOLD ) INSWING ADJUSTABLE THRESHOLD 5
ZAILAA4565 ZAIAA4565FN ZAl4565RDS

W Inswing Articulating Threshold

#8 X 2.5" COURSE THREAD —]
DRYWALL SCREW

(SEE NOTE 1)

ENDURA WEATHERSTRIP

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

7”3\ VERTICAL CROSS SECTION

w Outswing Bump Threshold

SIDELITE ] ~
PANEL \

#10 X 2.5" PFH WOOD SCREW OR

R2SrT

Lyndon F. Schmidt, P.E.

>
5

TEXAS P.E. #104123

NOTE:
Spacing for sidelite screws:
¢" from each end {2 total).

1.

P.O. Box 230 Vairico FL. 33595

Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F~11852

456" !

INSWING ADJUSTABLE THRESHOLD

(-

1.68"

I

INSWING ARTICULATING THRESHOLD 9

8

$

%‘ﬁ

i

1.6"

4.5¢"

456" | |
INSWING ARTICULATING THRESHOLD

10 INSWING ARTICULATING THRESHOLD

4.56" ,!

ZIACLAA4565

ZIACAA4565FN

—= 1.49"

4.56"

IOB4565RDS

13 OUTSWING THRESHOLD

ZACA4565RDS

Qz
S 2
Q (@)
< 9 =5
Z ul., oD
D Ul En
S 2 S0
L 85 >0
o
1
olg &
.. [
'5 o4
3 IS
6] £
o <C
[ 0.
2
] B 22
w
o)
o)
K0
O
Sl
Elo
Sl®| »
A z
o|® 1O
5|8 2
Nl
5| &
7]
o
Pt 52
N
]I5
<
[¢)]
Ll
NEE
~| <
N
N
-1 lo
Z
oaTe: 11/8/18
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4908

SHEET 6 ofF 7

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1018 Flush GLZ Masonite FG door (4904-4909\C - Drawings\TX-4905-08.dwg, 6.4

© 2018 R.W. BUILDING CONSULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1018 Flush GLZ Masonite FG door (4904-4909\C - Drawings\TX-4905-08.dwg, 7.4

i
B2 2X FRAMING
Foa (BY OTHERS)
HnO8
< O
© A

——

¢

e
(TYP.)

ﬁ‘“(

6"

HEAD ANCHORS:

#10 X 2-1/2" WOOD SCREW (PINE JAMB)
#10 X 3" WOOD SCREW (1-PIECE JAMB)

iy

TYP.)

\ 7 |
SEE DETAILI/

/SEE DETAIL 1
\~ N

..A

22" MAX,
0.C. (TYP)

o

]

6“

(TYP

—

1

SEE HINGE
T EEB, DETAIL 1
S
S L '
) ¥R
\
%
3
e SEE HINGE
3 DETAIL 2
/]
2R
HINGE JAMB
JAMB NOTES:

I
FLOOR SUBSTRATE MATERIAL

CONCRETE (MIN. 3000 PSI)
WOOD (G >= 0.42)

£ (YP) ] |~
4 (TYP) ——
2" (TYP) —]

FRAME ANCHORING

THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB.
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY.

INTEGRAL MULLION NOTES:

THE FATBOY PINE MULLION, "FusionFrame" MULLION, OR THE "FusionFrame" BACK-TO-BACK
JAMB (1-PIECE OR 2-PIECE) MAY ALL BE USED AS THE INTEGRAL MULLION

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the comers may be adjusted to maintain the min.

edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

"[MIN. CLEARANCE

mw

tapcoN® | 14 1-3/4" 2-1/2" 3
ELCO - § ,, .
ULTRACON®| 1/4 1-3/4 1 3

10) (0]

SILL ANCHORS: ?
#10 X 2-1/2" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
[TW CONCRETE SCREW

* NOTE: THESE ANCHORS ARE NOT
REQUIRED FOR D.P. < 40 PSF.

#8 X 2-1/2" COURSE
THREAD
DRYWALL SCREW

=

1/
/4

DETAIL 1

INTEGRAL MULLION ATTACHMENT

PINE MULLION

JAMB ANCHORS:

#10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB)

#10 X 3" WOOD SCREW (1-PIECE JAMB)

TOP

49.69" FROM
OF DOOR PANEL

o LI| o
8 n - ® - b <
7 l #8X1 PFHWSé:‘_=o/> #8 X 3/4 PFH WS
"~ 4" X 4" HINGE
) \ 2
] ' €
a _ <
. ) @ 5
S STRIKE A e HINGE DETAIL 1 E |y
PLATE DETAIL & |3 .
¥R}
W . gl 3
| #8X2-1/2'PEHWS | . < ®
L 3 &
K Q =
" = H[*3 & <
L #8X1 PFHWS%:,_;EB #BX/4PRHWS | &
" 4" X 4" HINGE 2 B
\ "
8
STRIKE JAMB HINGE DETAIL 2 D
3|2
=N
— DEADBOLT SECURITY 3|8| |»
) STRIKE PLATE = o] 15
#10 X 3" PFH WS <= elsl 13
51N &
tlo| &
#8 X 2-1/2" PFH WS ——] 8
LATCH STRIKE K=
-1 PLATE NS
815
STRIKE PLATE DETAIL ;
#10 X 3" PFH WS N
#10 X 2-1/2" PFH WS (4 PLCS) N <
N \ g
~ ~ ~ ~ DATE: 11 1
N~ UNgY) N NN N scale:  N.T.S.
§ § o|e DWG. BY: JK
CHK. BY: LFS
DETA". l DETA’L 1 DRAWING NO.:
TX—4908

INTEGRAL MULLION ATTACHMENT
"FusionFrame” MULLION

INTEGRAL MULLION ATTACHMENT

% #8 X 2-1/2" PFHWS

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

"FusionFrame” BACK-TO-BACK JAMBS

sheer 7 ofF 7

© zors R.W, BUILDING DONSULTANTS INLC.



